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I.  Multiple-choice Questions (45 points)
1. Research on the effects of recessions on the real level of GDP shows that

A) recessions cause only temporary reductions in real GDP, which are offset by growth during
the expansion phase.

B) recessions cause large, permanent reductions in the real level of GDP.
C) recessions cause both temporary and permanent declines in real GDP, but most of the
decline is temporary.

D) recessions cause both temporary and permanent declines in real GDP, but most of the
decline is permanent.

2. What are the two main components of business cycle theories?
A) A description of shocks and a model of how the economy responds to them
B) A model of how people decide to spend and a description of the government's role in the
economy

C) A model of how equilibrium is reached and a description of the government's role in the
economy

D) A description of shocks and a description of the government's role in the economy

3. Inthe short run, an increase in export sales would cause output to and the price level
to

A) rise; rise
B) rise; stay constant
C) fall; stay constant

D) fall; rise
4. According to Keynesian macroeconomists, prices adjust to shocks, so the government
should

A) slowly; do little
B) rapidly; do little
C) rapidly; fight recessions
D) slowly; fight recessions
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5. An increase in taxes (when Ricardian equivalence doesn't hold) causes the real interest rate to
and the price level to in general equilibrium.
A) rise; rise
B) rise; fall
C) fall; rise
D) fall; fall

6. An increase in expected inflation causes the real interest rate to and output to
in the short run, before prices adjust to restore equilibrium.
A) rise; rise
B) rise; fall
C) fall; rise
D) fall; fall

7. Which of the following is an example of a productivity shock?
A) The introduction of new management techniques
B) A change in taxes on corporate profits
C) A change in the level of government transfer programs
D) An increase in the money supply

8. The most common measure of productivity shocks is known as
A) the Solow residual.
B) the Lucas supply curve.
C) the Prescott productivity parameter.
D) the Kydland factor.

9. You and a friend are arguing over the issue of the nonneutrality of money. You believe that
money is not neutral, and to prove your point you would cite all of the following EXCEPT
A) large gold discoveries that increased the money supply preceded an economic boom.
B) a change in monetary institutions preceded a boom or recession.
C) a change in the leadership of the Fed and its policy was followed by noticeable changes in
the money supply and a recession or inflation.
D) the fact that every recession was preceded by a drop in the money supply.
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10. If the menu cost theory is true, then firms that change prices less frequently than other firms are
likely to be in
A) more competitive industries.
B) service, rather than manufacturing, industries.
C) growing, rather than declining, industries.
D) less competitive industries.

11. According to Keynesians, the primary reason money is not neutral is
A) rational expectations.
B) price stickiness.
C) reverse causation.
D) misperceptions over the aggregate price level.

12. Historically, Brazil has suffered higher and more variable rates of inflation than Venezuela. You
would expect the short-run aggregate supply curve of Brazil to be than that of
Venezuela, and the Phillips curve of Brazil to be than that of Venezuela.

A) flatter; flatter
B) flatter; steeper
C) steeper; flatter
D) steeper; steeper

13. When actual inflation is greater than expected inflation
A) unemployment falls, according to Phillips-curve analysis.
B) cyclical unemployment falls, according to Phillips-curve analysis.
C) there are transfers from borrowers to lenders.
D) there are transfers from lenders to borrowers.

14. For a given real exchange rate, a nominal appreciation of the domestic currency will result from
A) a decline in the terms of trade.
B) an increase in the prices of foreign goods.
C) an increase in the prices of the domestic goods.
D) an increase in the domestic rate of inflation.
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15. Ricardian equivalence argues that when the government cuts taxes and raises its deficit,
A) consumers anticipate that they will face lower taxes later to pay for the resulting
government debt.
B) consumers anticipate that they will higher services from the government.
C) consumers anticipate that they will face higher taxes later to pay for the resulting
government debt.
D) consumers anticipate it will affect their future taxes, in general in the direction of lowering
future taxes.

Il. Essay (20%)

Many demographers predict that the United States will have zero population growth in the
twenty-first century, in contrast to average population growth of about 1 percent per year in the
twentieth century. Use the Solow model to forecast the effect of this slowdown in population
growth on the growth of total output and the growth of output per person. Consider the effects both
in the steady state and in the transition between steady state.

I11. Numerical Problems (35%)

Consider the following Keynesian closed economy:

Consumption €% = 250 + 0.5(¥ — T) — 250r
Investment ¢ = 250 — 250r

Government purchases ¢ = 300

Taxes T =300

Full-employment output ¥ = 1250

Nominal money supply M = 3000

Real money demand L = 0.5¥ — 500r + n®
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(a) (4%) What is the equation of the IS curve?

(b) (16%) Calculate the values of the real interest rate, the price level, consumption, and investment
for the economy in general equilibrium.

(c) (15%) Now suppose government purchases increases to 350 with no change in taxes. What will
be the real interest rate, the price level, output, consumption, and investment in the short run?
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